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Opens:   Up   or   Down 
Vertex:  (       ,       )
Axis of symmetry:  x =____

a= ____ , so the graph is
Wide(fat), Narrow (skinny) or Normal
(circle one)


Roots: _______________
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Chapter ¢ Concept 1

1
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Chapter 9 Concept 3. Identify how many zeroes the graph has, and what they are.

7. y=-xltdc+l

Opens: Up or Down
verex: [ . )

Axis of symmetry:

¥ 50 the graph is

Widelfat]. Narrow (skinny] or Normal
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Roots: biw,
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382 +3k-1=0
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22 -4x-2=0
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Chapter 9 Concept 4.

Equation Tdentity Valve of | Discriminant | How many | Possible
a= b= Discriminant | positive Solutions/ | Picture
* Negative | zeroes/ roots/
Then use Zero x-infercepts:
b —dac Zero
One
Two
2 Positive Zero
3pP-2p— Negative One
Zero Two
Positive Zero
P-3x+8=0 Negative One
Zero Two
Positive Zero
Negative One
Zero Two
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Chapter 7 Concept 6.

Set 2. Solve the equation. Simplify the answer as much as possible.

47, x*=36 8.

50. x'=48 s1.

54.

56. X
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Solve each equation by taking square roots.
1) F=49

3) p2+6=7 4) pP+4=20
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Chapter 9 Concept 7. Solve by factoring.
Use the zero-product property to solve. (solve by square root or factoring difference of squares)

66. 4x2-25=0 67. 25x7-4=0

65.

Find the zeroes.

—x-6 63. y=3r—x-2 70.

6. ¥
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Solve each equation by factoring.
5) m*-16=0 6) i —5k-14=0

7 PL+2x-15=0 8) 22 +5k+2=0
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Chapter 9 Concept 9
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Solve each equation with the quadratic formula.

15) 2m* —2m—4=0 16) v +2v-24=0
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